
With reference to your own research and the item above, to what extent do you think that the main reason to change the organisational culture of a business is the nature of the industry that it operates in?
The nature of the industry is anything that is characteristic of the specific businesses that operate in that market. This could be based on the sector that they operate in e.g. primary or secondary, the type of business activity e.g. car production, or more general e.g. consumer goods. BP can be seen to operate in the primary industry. By extracting petrol they can be categorised in a more specific industry. It is evident from the item that the nature of BP's industry is one of high risk.
The candidate has defined a difficult concept. It is important that candidates understand key 

terms in the question if they attempt it. A misunderstanding of key words in the exam could prove disastrous, ruining a potential high grade due to not answering the question (NAQ). 
I believe that the change in the organisational culture of BP is a direct consequence of the nature of the industry that it operates in. BP operated a rigidly hierarchical organisational structure where too many ‘generals’ gave orders that had to be followed by subordinates. Self-interested senior employees made key decisions that were disseminated down the hierarchy to subordinates. Hofstede would suggest that this was a collectivistic culture whereby each employee within the hierarchy understood their position within the organisation and followed their job role. This meant that employees operating further down the hierarchy were not delegated the responsibility required to make informed decisions. This led to safety and environmental rules being ignored as decision making was in the hands of those senior executives who did not have the day to day understanding of the risk involved in BP’s operations. Core workers, those that really mattered at BP, did not have 

the authority to undertake key decisions. Ultimately, this led to tragedy, with 11 BP mployees losing their lives and devastation in the Gulf area. Subsequently, BP’s reputation was seriously damaged and changes had to be made to ensure that its corporate social responsibility was dramatically improved. With criticism coming from powerful politicians such as President Obama BP could not afford to whitewash its problems and simply ‘window dress’. Profit maximisation had been the main corporate objective but BP had to be seen to be effective in terms of its safety and environmental record. Therefore, due to the dangerous nature of the industry in which BP operates, the organisational culture had to change from being bureaucratic to one of risk minimisation. Instead of the self-interest of senior employees, the safety of all employees and the environment in which they worked became all important. The problems that BP have had are likely to have caused concern for 

other businesses in the oil industry and it is doubtful if any of the major players in this industry could ignore the consequences of the oil spill and deaths. However, it could be argued that public outrage and media attention was the driving force for the change.
Good use of the item in answering the question with lines of analysis used to develop the paragraph. The candidate has made use of business theory to analyse the reasons why BP has tried to change its organisational culture from a bureaucratic culture to one of risk minimisation due to the nature of the industry that it operates in. The candidate has answered the question – why organisational culture needs to change due to the nature of the industry. Here, a bureaucratic culture has had to change due to the risk associated with the oil industry. The candidate has gone beyond mere assertion and justified the reasons as to why it has had to change e.g. lack of understanding of senior executives, poor reputation and political influence. The answer evidences the ‘weaving’ of application and analysis required to attain higher levels on the mark scheme.  Applied points have been developed through cause and effect and linked to the main reason for change – the risk inherently involved in this industry. It is essential that the candidate always links their argument to some form of organisational culture theory. Here, for example, there is the temptation to discuss leadership/management style rather than organisational culture. 
At Walmart, it is the competitive nature of the industry that has necessitated a change of organisational culture. The corporate objective of cost minimisation had driven the business for decades but the advent of e-tailing competitors has meant that Walmart has had to change its ways. Its large size has always been fundamental to the business and it has used its buying power to gain economies of scale and reduce the selling power of its suppliers. However, with the rapid growth of ecommerce in the retailing industry, in the form of online giants such as Amazon, Walmart has to change its organisational culture. New business models are being used to target a global audience and Walmart will struggle to compete if doesn’t embrace these new models. The buying power of customers has changed as they have moved away from the high street to online retailing. The role of the employee within these new technological processes has changed. Highly skilled workers are looking to work within a completely different working environment to that traditionally operated at Walmart. To some extent, these new processes have been recognised by Walmart and the issues are being addressed through its acquisition of Kosmix, an innovation driven ecommerce application business. Here, core workers from Silicon Valley are idea driven and given the freedom to develop their ideas. Their values are aligned to doing their best for the business at all times. Of course, it is difficult for a rules based organisation to change to a value based organisational culture. Clearly there is a clash of cultures. Gradually, the retailing dinosaur is being dragged into the new online era. Changing from a rules based bureaucratic culture, where power is devolved from the top, to a value based innovative culture, where employees have a greater say in decision making, is essential if Walmart is to maintain its position as one of the world’s leading retailers. However, due to its history and the global nature of the business it will be difficult for Walmart to implement changes to the organisational culture. This is not the first time that Walmart has had to change its culture. It had been a small family business that could make decisions quickly from the head of the family. This power culture became unsustainable as the business grew. It is clear that it is the competitive nature of the industry and the new form of competition i.e. ecommerce that has seen it take its first steps into trying to change its culture. It is likely that we will see a mixture of the two organisational cultures operating at the same time, with core workers operating under the new culture and peripheral workers, such as some shop floor workers, continuing to operate traditionally. 
The candidate has attempted to compare Walmart with BP, suggesting that the nature of the industry is the most important reason to change the organisational culture. The argument has been underpinned with Porter’s 5 Forces theory with the idea that ecommerce business models are taking over global markets. Markets are moving from the high street to ecommerce and this will have an impact on the buying power of customers. The candidate has distinguished between the two differing cultures that are operating at Walmart – traditional rules based/bureaucratic v modern values based/innovative. The answer borrows from BP1 with some evaluative commentary as to how the two cultures might operate at the same time within the same organisation. The paragraph has been ‘tailed’ with paraphrasing to ensure focus on answering the question. Interpreting the nature of the industry as competitive is a valid argument. The strengths in the paragraph are in the second half, there is a risk of storytelling early on. Although evaluative commentary is used to conclude the paragraph this is not directly addressing the question. As with analysis and application, evaluation must be focussed on answering the question. 

At Iberia I believe that the main reason for the change in organisational culture was due to their merger with British Airways. With the global nature of multinational companies it is apparent that the dominant business in a merger will shape the culture of the subordinate business. This can be seen with any cross border merger e.g. Kraft Food’s takeover of Cadburys or Daimler taking over Chrysler. Hofstede suggests that the national identity of the Spanish and British airlines is fundamental in creating the organisational culture. With BA owning 55% of shares in the new International Airlines Group it was always likely that the British organisational culture would dominate. BA has a flat hierarchical structure with a wide span of control and an informal working environment. Management provide direction and help employees meet their higher level needs, as suggested by Maslow. Hofstede sees this as an individualistic approach with core workers being delegated responsibility in order to carry out their duties. This leads to greater job satisfaction and a higher standard of performance. Everyone in the organisation has the same values and strives for the best. Schein would say that they have the same basic underlying assumptions, in that everything they do is for the good of the organisation. This could be deemed as a strong culture, apparent in the high level of customer service that they provide. In Spain there is a different organisational hierarchy. The key influence is the leader who is seen to have a paternalistic leadership style. They provide explicit instructions that workers are expected to follow within a collectivistic organisational culture. As BA imposed its style of management on Iberia the organisational culture would have to change. This has not been without its problems as industrial disputes have occurred and cross cultural training has been required with Iberia employees finding it difficult to embrace BA employee’s individualistic approach, more subtle and less direct. Therefore, in the case of Iberia, it is the national identity of the different employees that is the main reason for changing the organisational culture. 
The candidate is following the rules by producing a contrasting paragraph – this one suggesting that global mergers with other businesses are the main reason for changing organisational culture. The argument is supported with Hofstede’s theories based on individualistic and collectivistic cultures. There is also reference to Schein’s Iceberg Model but the application lacks information supporting the analysis. Although there is clearly evidence of research on Iberia this evidence does not specifically answer the question. Stating that Spanish businesses have a paternalistic leadership style does not necessarily mean that Iberia does. The analysis does attempt to link paternalism to a collectivistic organisational culture and suggests that it needs to change due to the merger, therefore directly answering the question by showing that a merger (rather than the nature of the industry) leads to a change in organisational culture (from collectivistic to individualistic) at Iberia. This form of triangular analysis (as discussed at our training days) is very useful in helping to plan a structure for each paragraph. 
In conclusion, the nature of the industry can be seen to be a significant reason as to why organisational culture has to change. At BP external political influences and poor public relations has ensured that it must change its organisational culture. When the President of the US starts to criticise the business due to its poor safety and environmental record changes are likely to occur as it is difficult for BP’s leadership team to escape the intense negative publicity. Ultimately, shareholders own the business and they will not accept the situation as it will have a detrimental impact on the share price. Therefore, BP had to change its culture to one where risk minimisation was prevalent throughout and all employees saw it as their main objective. With Walmart the competitive nature of the retail industry and the technological changes that have occurred in recent years have meant that change in organisational culture is required. Walmart is unlikely to survive if they do not become more innovative with their technological processes and incorporate new ideas; something that cannot be achieved in a rules-based organisational culture. However, at Iberia, it is the clash of cultures due to the merger with a British firm that is the main reason for change. With UK based BA the dominant partner Spanish employees will have to adapt if they are to maintain a position within the organisation. This might take time but we are likely to see a gradual adoption of British values throughout IAG. It can be seen that, to a large extent, it is the nature of the industry that necessitates a change in organisational culture. As industries differ and change within each industry occurs at a different pace, we are always likely to see continual change in organisational culture.
The evaluative paragraph shows how important it is to link judgement to prior analysis. If a candidate produces application throughout their work showing a depth of insight into businesses discussed it becomes easier to make strong supporting judgement. The evaluation suffers due to a lack of insight used to illustrate prior analysis. Having an understanding of a business such as Walmart or Iberia is, in itself, not enough to achieve E3. The candidate must have the ability to select relevant information from their own research to justify their analytical commentary. Clearly, this is a difficult skill. Those candidates that do not have a real insight into their chosen businesses will try to ‘shoehorn’ application in order to fit the question. This will show superficial understanding of their chosen business and will therefore affect both application and evaluation marks. Within the body of the candidate’s work and within the evaluation we can see that they have tried to use application that has not always been ‘best fit’. Nevertheless, they have attempted to follow rules for evaluation by sing their prior analysis to support the judgement made.

Overall, there is some good analytical development throughout. A number of key business theories from the specification have been used e.g. Ansoff, Porter etc. as well as organisational culture theory e.g. Hofstede, Schein etc. It is pleasing to see good use of business studies theory to underpin arguments. It is noticeable the lack of theory that is used to answer questions nationally. At times this theory has been applied well to answering the set question. However, not all of the examples used could be described as good application. The candidate has a good essay structure with use of the item and comparison and contrast with their own research. The work is likely to be at the top of Level 4 with good analysis and reasonable to good application. For evaluation the candidate is likely to achieve top of E2/bottom of E3 – greater evidence of application to answer the question is required to support judgements made. The structure of the evaluative paragraph is good based, as it is, on prior analysis and application.
Level 4: Gan + Rap. Evaluation: E2

British Petroleum (BP)


In 2010 eleven BP employees were killed when the Deepwater Horizon rig exploded in the Gulf of Mexico.  The resulting oil spill left devastation in the Gulf area.  BP’s reputation was seriously damaged and they were publicly attacked by President Obama.  Bob Dudley replaced Tony Hayward as BP’s new CEO.  In 2010 BP made a loss of $4.9bn.  


Years of internal investigations had warned BP leadership that safety and environmental rules were being ignored.  The business had been seen as too bureaucratic with too many ‘generals’ giving orders and not enough individual responsibility lower down the hierarchy.  A rigidly hierarchical management culture was dominated by self-interested senior employees who had been at the company for life.  Dudley was tasked with changing the organisational culture.  Many believed BP, and the oil industry as a whole, were too concerned with profit maximisation rather than safety.


Dudley said ‘Sometimes events like this shake you to the core, the foundation, and you have two responses - one is to run away and hide. The other is to respond and really change the culture of the company and make sure all the checks and balances are there, just to make sure this does not happen again’.  In 2011 BP changed its business strategy with ‘a relentless focus on safety and managing risk’ at its core.  A culture of risk minimisation was adopted.  In 2011 BP made a profit of $25bn and set an objective of improving shareholder value.











